e Lotumy 13
£ () Vs [de [ 4 eoi?) [y -1 Ty T

i([_,zj)(c.,¢}])r‘§'?3’?‘ﬁj O > wz30

4
() 4. R= (% f,/«/m/«f) [ 4y FEF - & b ke el
KA
4

L2

R3‘ pt L:'r 3 f./a‘m{«‘)c.,(,}) f,(? = £ .

TR

= fj, 3]/.;: (J) f,,/?c,(y s S v - 2RO
E ( I cstShenis))]
R, = s Jh o [ £ ) fypsrt) < & 300 T (RO
GO () (F=)= Jewl—trrl = {5703 O
5 Vs —pmbe (E[Lr e sto) « [T ege))  ©
(0) Vi pmbes (et o [400) = o tog, (2-8) @

() 299, ) (Lare +rfr.4f,§)

L)

R,

@ (.L) V(r) kUaJSv(\A ’ V’(: if((r'#;(r')x— rd) = ‘hr a(r'riz ";0(04'1)::
D . K

V M= g- Wl

oAV = {'7'93-%(/ R-)r'z = mpmg bor oA, ' 12 ’/ro (f’(r')
'/0' (")r’)

ke
V(r)ﬁ;)=f064'(-g""géw)r't‘:’_ = -yn_;('-rs',ﬂg -:: = ‘)"“"'76/ O
V()= VlrcRe) = =pmslon [ (d 200 (5% 22) < prgtn (2= &
( o r )O )O
(L) Swatt, VA= deow(pi-at) © D
0((/ ={n'7$‘v"(, 2-‘-525-2'1, 2= e-a'} ® - pmg 2u ofy’ (m‘h‘%")‘

Re
V(%)Re) 'I 'J’MS 2"‘ :S’ "li' (Iﬂ2127-2331 -2 +Q"r.;—‘= 2'[ (Q( *Z'Zéé) X 22 f‘a"‘!

e ¢

= g {"[ ((e- Re)) ((sze)‘) 1 lﬂczz -Y@:D
V(’fpiz(Re)I ~Preldw {f oy’ P*évz') +!o{2' (P —2'1-3);0

~pg 2o { [((R; a)" -({kfle)) J -2 } y~54- (-—- —)

2



